B3am. uHb. N° [MHB. N° dydn. |Mlodn. u dama

C3L-1
Knanan | 1
Knanad | 2
= +40B |3
5 +L0B | &
< [ Odwud |5
+ 5B 6
flamy. knan| 7
8
1
OQdwuwa | 2
MluHusa B | 3
MluHus A | &
+12B 5
5 6
2 1
Odwuu | 2
NuHua B | 3
NuHua A | &
+12B 5
6
2 ~2208B, 50ruf 1
3 ~2208B, 50ruf 2

(3U-2
KnanaH | 1
KnanaH | 2

z +40B 13
5 +L40B |k
= T G
+ 5B 6
[lamy. knan| 7
8
1
Odwuu | 2
NuHua B | 3
NuHug A | &
+12B 5
5 6
= 1
Odwuwa | 2
NuHua B | 3
NuHug A | &
+128 5
6
~220B, 501y
~2208, 50ru

KCMB 8*0.5

KnanaH K33l

KnanaH

KnanaH

+ LOB

HDUDU Y

+ L.OB

0Bwuu

+ 5B

flamy. knan

O FIWwIN | —

Cucmema KOHMPOANA 302a30baHHoCmU

Ymb.

o

5 «Kpucmann - 2»

= /lum. [Macca [Maocwmad
S| WMaM/lucmN° dokym  [Modn.  |[lamal

=| |Paspad. 000 «[KP «3HepzocuCmeMbl»

| |lpob. 2.CapamoB

S| [T KoHmp. P ucm 1 |/lucmob 1

=

- H. KoHmp.

=
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